
https://www.geekcert.com/jn0-643.html
2024 Latest geekcert JN0-643 PDF and VCE dumps Download

 

 

 

JN0-643Q&As

Enterprise Routing and Switching, Professional (JNCIP-ENT)

Pass Juniper JN0-643 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://www.geekcert.com/jn0-643.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by Juniper
Official Exam Center

 

 

JN0-643 PDF Dumps | JN0-643 Exam Questions | JN0-643 Braindumps                                1 / 4

https://www.geekcert.com/jn0-643.html
https://www.geekcert.com/jn0-643.html
https://www.geekcert.com/jn0-643.html


https://www.geekcert.com/jn0-643.html
2024 Latest geekcert JN0-643 PDF and VCE dumps Download

QUESTION 1

-- Exhibit 

-- Exhibit -Click the Exhibit button. 

In the exhibit, Host2 is the only host currently joining group 231.1.1.1, but S1 is still flooding the traffic to all hosts on
VLAN 100. 

What feature can be configured on S1 to limit the multicast flooding of traffic to only interested hosts on VLAN 100? 

A. Multicast scoping 

B. IGMP snooping 

C. Multicast VLAN registration 

D. IGMP immediate leave 

Correct Answer: B 

 

QUESTION 2

You want to provide reachability to your data center by advertising its subnet throughout your upstream peer AS.
However, you do not want this prefix advertised any further. Which BGP community value would be used to meet this
requirement? 

A. no-advertise 

B. no-export 

C. no-export-subconfed 

D. 65512 - 65535 

Correct Answer: B 
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QUESTION 3

You have certainly implemented the configuration shown in the exhibit. After committing these changes, the community
devices connected to AS-1 are not able to communicate with the appropriate community devices connected to AS-2.
What must be done to allow these community devices to communicate? 

A. You must configure an isolation VLAN ID Under the pvlan-200 on the AS2 switches 

B. You must configure the ge-0/0/10 interface on AS1 AS THE VPLAN on both switches 

C. You must configure an isolation VLAN ID under the VLAN 200 ON both switches 

D. You must configure the ge-0/012 interface on both switches as P VLAN trunks 

Correct Answer: D 
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QUESTION 4

What is an IP multicast routing protocol? 

A. RSVP 

B. OSPF 

C. PIM 

D. CDP 

Correct Answer: C 

 

QUESTION 5

Which two statements is true regarding the next hop attribute? (Choose two) 

A. it is not changed when sent across EBGP sessions 

B. it is changed to self for IBGP routes learned from EBGP 

C. it is not changed for IGBP routes learned from EBGP 

D. it is Changed by default when sent across EBGP sessions 

Correct Answer: CD 
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